PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

29th July 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Who is the first Indian woman to have won Britain's prestigious Booker Prize? / Ugdl MR Aigar
= fsrea o1 ufafYa g7 Reer Sitar 8, 98 &4 82

Anita Desai / 3T a'\‘:ﬂg
Kiran Desai / fp=or a'\‘ﬂ_&F

Jhumpa Lahiri / ST Afedd

® Arundhati Roy / ST I
Correct Answer :-Arundhati Roy / 3t 31T
2)

Question Stimulus :-

In India, the theosophical society was founded by / HIRd A fRaeifred ?ﬁ'\tng'& feas GIRT RITUd &t 11€
4t

e Sister Nivedita / Riex frrafaar

¢ H P Blavatsky / Ud 0 W@W

® Annie Beasant /Q:ﬂ' A<

® GG Agarkar / Siol SMR®R
Correct Answer :-Annie Beasant / G-l 99
3)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ, Ugd df Uel & &I fpdt
TPR I B3 way 3| U fawe & I 9ryr ug gR e R 1e & a1y St vor @1 9y 2

Abstract : Concrete :: Simple : ? / HIRIR Ij\_cf AR ?

()



® Specific / ﬁﬁZTE

® Hard / 3

® Procedure / RG]

® Complex / wfed
Correct Answer :-Complex / Sifed
4)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Fafafad vy & e afe w0 # ) @) sTawt B3 R 39P arg 9 Ry e fawenl A ¥ W Suge
SIHH BT IIT P

1. Mother 2. Child 3. Milk 4. Cry 5. Smile

1. | 2.9 3.gY 4.3 5. G
e 1,5,2,4,3
e 2,4,1,3,5
e 2,4,3,1,5
e 3,2,1,5,4
Correct Answer :-2,4,1,3,5
5)
Question Stimulus :-

The Tamil language is believed to be a gift of which sage? / GIE ] HTHT, P9 Y G B a? T+l STt %?
* Sambandar / Jdax
® Agastya / ST
® Appar / WR

® Sundarar / g}

Correct Answer :-Agastya / S[IY
6)

@)



Question Stimulus :-

If Monday means a cheerful day, and its Monday today, then it's not a lousy day. / afe
AR BT Aded JRIBTA o7 &, 3R 3o THAR &, @ 3T 9gd WR19 fe 781 gl

e True / Tgl

False / TTdd

Maybe / 8 9%l &

Irrelevant / SUTARTS

Correct Answer :-True / Tgl

7)
Question Stimulus :-

Siddeshwar Temple is located at ./ RryR dfer __ﬁ' R %I
® Joga/ S
 Karian / PRISM
e Nemawar / JHTGR
® Mandu /HIg

Correct Answer :-Nemawar / FHTGR

8)
Question Stimulus :-

Which of the following districts does NOT belong to Ujjain division? / fFrafarfaa forel & & =1 &1 forem
I YU BT 61 82

® Ratlam / YcdciTH
® Neemuch / T'ﬁ'EﬁT
® Shajapur / RITSITYR
® Rajgarh / XSl
Correct Answer :-Rajgarh / YSl{lg

9)

(4)



Question Stimulus :-
Who abolished the dual government system? / IERUGEIC R WIS P fpaq g T
® Robert Clive /?'Iﬂ'c.F CHIEE]
® Warren Hastings / aﬁ‘—r%ﬁm
® Lord Wellesley /FI"I% Il
® Lord Cornwallis /Fﬁ% G TSR]
Correct Answer :-Warren Hastings /aﬁqéﬁm
10)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ﬂ'ﬁlﬂ,
st T T Byl wd frewsl & o & 9 @

Statements: / YH:
Some parrots are not birds / $ dd Uelt T8 &
All parrots are pigeons / Tt i W%
Conclusions: / fem:
I. Some pigeons are not birds / 1. WWU&% :Iﬁ%
I1. All pigeons are parrots / II. i‘f‘lﬁm?ﬁ?f g
® Only conclusion I follows / Fad ey I Fwear %
® Only conclusion I foIIows/aﬁﬁ' fosed 1 fRrpaar %
® Both conclusion | and Il follows/?.ﬁ:ﬁ ey 1 3R 11 e %

® None of the conclusion I or Il follows / fpfrarrada aﬁs‘ "-I'ﬁ IBCASGI %
Correct Answer :-Only conclusion | follows / ad f~resy I frperdr &
11)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe gﬁl’t{
Sil 3T T Syl wd el & aR § 98 @

Statements: / ®Y-:

(%)



All clock are watches. / I EI'%'*ﬁBW ‘Eﬁﬁ %'I

All watches show time. / st g1y H‘%‘iﬁw IGREIG %I
Conclusions: / fAshd:

I. All clocks show time. / I. 9+ ufgar w9 fe@rd g1

II. Time is shown by clock. / II. 999 9! gRT few@mar ar g1

® Only conclusion I follows / Had ﬁm?ef I fFrpadar %

® Only conclusion II follows / Fad ey 11 Feaar %

® Either conclusion I or conclusion II follows / IT df frepd I a1 fiby e 11 fRrperar %

® Neither conclusion I nor conclusion II follows / ¥ i frsed 1 fRrepear % Gﬁ? G 'E:P[ freed 11
Correct Answer :-Only conclusion I follows / $de f~1epy I foeaar g
12)

Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / 19 ¥ ﬁ, IR g f&u
T g, o § o= ol vor O IHE § 3R 919! Ue 3renT @] 3IeRT 91l JTd SIS |

o Milk / g¥
e Wine / TRId
e Water / UTHI
* Curd / Gl

Correct Answer :-Curd / ¢gl

13)
Question Stimulus :-

Jabalpur an important town falls under which region? / SId¢TqY Www 2, 9l {5 &3 & siavla arman
&

® Mahakaushal / n%rclﬁm'a
« Bundelkhand / §¢ads

® Malwa / HIdI

(6)



® Chota Nagpur / m

Correct Answer :-Mahakaushal / TETHI

14)
Question Stimulus :-
Who is the present Chief Justice of India? / HIRd %a?ﬁ:l'ﬁ 3T mﬂ’maﬁ'—r %?
® Justice T S Thakur / <ITATHRI & T STPY
® Justice H L Dattu / ITATHR T TA &
® Justice D Y Chandrachud / <Iraeii=r St 91 d5ds
e Justice Anil R. Dave / ITATHE 3fId 31X, Ela
Correct Answer :-Justice T S Thakur / <ITITHIRT & TH STHT
15)

Question Stimulus :-

A candle-maker finds that if a day’s production is packed in 3, 4, 5 or 6 per packet, one would be left over. If he packs
them in 7, there would be none left over. What is the lowest possible number of candles produced? / Th HHa

forafar urar @ 5 afe ve foa & Iaures &1 3,4,5 3IYdr 6 6 T= A ufa Udhe & Uo fopar wie ) v
Y TE S| Afe df 7 91 G=n # 9% $, a9 e WY 2w T8 8| Ianfed WA @ 98 gAaH THg
T@=IT 41 ghfl?

® 106

® 301

® 309

® 400

Correct Answer :-301

16)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey T-Jﬁ't{
it RE U Hy) wd Frepl & o § w9 81

Statements: / ®Y:

Some boxes are cans / $9 I &= &



Some cans are dishes / 8 SR 9§
Conclusions: / fAehd:
I. Some cans are boxes / I. 79 s g §

II. Some boxes are dishes / II. $9 I g %

® Only conclusion | follows / Fada ey 1 Feadar %

® Only conclusion I foIIows/W forsed 1| freadn %

® Both conclusion land Il follows/a:ﬁ ﬁlﬁﬂf I Gﬁ? I frrped %

® None of the conclusion | or Il follows / g da 'ﬂﬁ'g q’éﬁ reear %
Correct Answer :-0Only conclusion I follows / $ad f=rspd I ferperdr T
17)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / 9§ fawey ﬂﬁﬂ;’,ﬁﬁ qo Bl T
SRR ekt E i

“If the bell rings, then you will hear it.” / “afg €<} aordft 8, oY oMU 37 FAA”
e If the bell does not ring, then you will hear it. /uﬁ‘araq-aweﬁ %, GIGE] GITGB'@‘\EﬁPfI

e If you do not hear it, then the bell is not ringing. / af¢ 3T I JAd 81 &, @l Gl 781 a1

Tl 7l

e If the bell does not ring, then you do not hear it. /ﬂﬁ‘ﬂ'@fqﬁaﬁ?ﬂﬁ, T 3T I el
TgAd gl
e If you hear it, the bell is ringing. /H‘%Wﬁﬂﬁ%’, ?'ﬁﬁ??fﬁ?ﬁ%l

Correct Answer :-If you do not hear it, then the bell is not ringing. / af¢ 317 3& Fd At

2, T g a1 3E 2

18)
Question Stimulus :-

Mhow in Indore district was renamed as Dr. Ambedkar Nagar in the year ./ 3?.‘3? fora A Hg, L

A BT AHTH TR & U A B0 fHar Ty ATl
* 1986

* 1982

(8)



* 2003
®* 1999

Correct Answer :-2003

19)
Question Stimulus :-

A farmer grows 4 crops- A, B, C and D, not necessarily every crop in every year. A is grown
between the months Jan-May, B between April = July, C between June -October and D
between September-January. Each crop takes 3 months from sowing to harvesting. At a
time only crop can be grown. / T I IR B3I SUMIE - A, B, C 3[R D, 3 93 8] B &

O dl g3 T ST A SHa -Us & o § SIS 91l 8, B e - Jams #, C S -3agsR 3R D R
-S S A TP HHA gars | Hers g A3 TN Adl 81 TP IR | Rib te waa IS o 9wt 2

If the farmer sows C in June and D immediately following, when can A be sown at the

earliest? / P S # € 3R D IUSP I a1 &, T A P SIeg I SIeg B ST S bl 82
o September/ﬁlﬂm

® October / 3¢

® November / EGEES

U January/\_rFﬁﬂ

Correct Answer :-lanuary / SIHas]

20)
Question Stimulus :-

Raj wants to become a member of a club. The various membership options are as follow: /
IS TP F9 & TP He™ 991 dredi & | Al Gewar & ey 59 ToR &:

A - Initial payment: Rs. 10000, annual fee: Rs. 1000 / A - 3Rfi® YIaE: 10000 IUd, dIfi®
Y[e@: 1000 ¥Ud

B - Initial payment: Rs. 5000, Monthly fee: Rs. 100 / B - 3RfY® YTdH: 5000 $UL, HIR®
Y[eh: 100 ¥

C - Life time membership fee: Rs. 20000 (Includes membership for all family members) /

C - Silaq ¥R eudl Y[ed: 20000 W (URIR & Tl wew & forw ez ot wnfia 3)

If Raj and his wife both want to become members of the club for next 10 years. Which plan should they opt for? / 'q% ST

3R B! Ul GIFT ST 10 TS & T F09 F W ST AIRA 8 | S0 [h < AT DI AT A1MRY?

e A

©)



® EitherBorC/BYIC
Correct Answer :-C
21)

Question Stimulus :-

Article 356 of the Constitution of India deals with / HTRd ®T TTJeT=T ® Gﬂ%_({ 356 BT GoK] % :
® Autonomy of States / ISl B T@rEr
® The proclamation of President’s Rule in a State / fonsft I7s0 | ?quﬁf A B BE;‘Zﬁ'GI'U'IT
® The removal of a Chief Minister / H'@'q'iﬁ DI g
e The appointment of the President / mgcrﬁ &t ﬁ'ﬂ'ﬁﬂ

Correct Answer :-The proclamation of President’s Rule in a State / & I/og # ?Tgtﬂ%f M DY

IGUTuT

22)
Question Stimulus :-

Highest civilian award in Indiais ___ ./ HRd ¥ Tdi= AN S I - gl
® Bharat Ratna / HIRd ¥Id
® Padma Shri/ GSI5}
® Padma Bhushan / UsT YHUT
® Padma Vibhushan / 9T faywor

Correct Answer :-Bharat Ratna / HIRd ¥d

23)

Question Stimulus :-

Punjab has two international Airports at and ./ USITg H &F 3|?|'RT€PT Baré GI%' % 3R

® Jalandhar and Mohali / STTAER Gﬁ? m

® Amritsar and Mohali / [ d¥dX 3T HrgTeht

® Amritsar and Firozpur / 3[{d3dx¥ 3R ﬁﬂ-'k!ﬂ?
(10)



® Jalandhar and Firozpur / SITAYR 3R ﬁ}T\ﬁTﬂE—\’
Correct Answer :-Amritsar and Mohali / 33X 3R wrgTel
24)

Question Stimulus :-

Garhwali is a famous dance form of this state / naawﬂ EGEIG @t Th 1| R P I el %:
e Uttar Pradesh / m%sr
® Madhya Pradesh / AT
® Uttarakhand / STRIGS
® West Bengal / CEEEHIG]
Correct Answer :-Uttarakhand / STRTGS
25)

Question Stimulus :-

CPR stands for / TSR TSI RTFURI

® Call Police Roomlma’?mﬁﬁﬁ

® Cardio Pulmonary Resuscitation /W‘J QWTSHHT'T (W\_rﬂﬁ ﬁ"TCIT)

® Cardiac Process Review /W%QT:F ufepar '\‘l'ﬁbf&‘lT

® (Central Process Room /W ?ﬁ&‘[m
Correct Answer :-Cardio Pulmonary Resuscitation / PP Ysiia- (Jsita-t fapar)
26)

Question Stimulus :-

How many times ‘E’ exceeds 'R’ in the word '‘DEPRECATE’? / ‘DEPRECATE’ s ¥ E’ fpaq
IR’ 9 3fftrw 2

¢ 1

° °
H W N

(11)



Correct Answer :-2

27)
Question Stimulus :-

A permanent Seismological Observatory is located at / TH R W%?mn?n H fRE g1

® Latur /I
® Pune /H[ﬂ'
* Shilong / PRI
e Siliguri / RGNSt
Correct Answer :-Latur / ¥IqX
28)
Question Stimulus :-
Five boys participated in an elocution competition. / WW%ﬁﬁlﬁﬂ ﬁsﬁe{ e feram
1. Alok ranked higher than Suresh / 1. A& &I I A St Joft wred g3 21
2. Suresh ranked higher than Prakash / 2. %ﬁm B USRI A St Ay E‘s‘ =
3. Alok ranked lower than Nikhil / 3. 3melt® &1 fAf@a I == 4o v g5 31

4. gabir ranked between Alok and Suresh. / 4. TdR &I 3fTEl® MR P & 9= BT J0f e g5
|

Who is ranked the highest? / TaQ St 907 %9 U g8 82
* Nikhil / - &«
* Alok / 3TA®
® Suresh /W
* Kabir /®dR

Correct Answer :-Nikhil / fAfRaa

29)

Question Stimulus :-

(12)



What is related to ‘Foot’ in the same way as ‘Hand’ is related to ‘wrist’? / o a= sy Sdfta % ‘m' @',
SHl TPR | ‘Uid’ A FT A 3?2

® Length / mﬁ‘

® Shoe / S[dl

® Ankle / ¢dHT

® Leg / TINT
Correct Answer :-Ankle / TGl
30)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / afe Il 3R WR 3pfa &t ¥4 & ToT A & T wies fovar wirar 8, ot A fawen A @
B I faper ¥ wae il 3R feard T wae & faudia &2

N\

S
NN

[
s 03 CAAAY

SN
N Y
A Y

AN
A s
Y

Correct Answer :-

31)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fopeu ﬁﬁf&’,\_rﬁ ab i %'f@'
ARt mUsE TR :

(13)



If you pay the fee, then you can enter the class / 3 R 3T B ﬁ'ﬁ, TV 3T HET F < U
B qhd §

If you don’t pay the fee, then you cannot enter the class / 3[R 3T B gl od %', at
3T H&T P AR YL 8] HY Thdl &

If you cannot enter the class, then you didn’t pay the fee / TR 3[4 HE&T & 3T YaRT
T8l HR AHd, ql AT BT "8I & 8

If you can enter the class, then you have paid the fee / 3R 3T HET H e UA P
FHa g, dl 3 B S & 71

None of the above / B‘W’Iﬂﬂ&ﬁ'ﬁc =r€r

Correct Answer :-If you cannot enter the class, then you didn't pay the fee / 3R 3{lU

PET P IS YA T8l B TPd, dl MY WY 81 &I &

32)

Question Stimulus :-

Which of the following rivers do not originate in India? / Fafufaa T-I'%Tﬁﬁﬁ CIERIEGE:] Gﬂ?‘l{qﬁ'@;\?ﬁ %?

Narmada /7'11:].7:."[

Yamuna / 9H-AT
Sutlej / Hd ol
Godavari / Tﬁﬂ'ﬁﬁ

Correct Answer :-Sutlej / ddqsl

33)

Question Stimulus :-

Who was the first Vice-President of India? / HTRd & tlsﬁmgtrﬁr ﬁ_"f ) b

Varahagiri Venkata Giri / Wﬁlﬁ doe fafy
Dr. Zakir Hussain / S1 ST Eﬁ?
Dr. Rajendra Prasad / ST Ioig UG

Dr. Sarvepalli Radhakrishnan / ST gauedr RTYTP W

Correct Answer :-Dr. Sarvepalli Radhakrishnan / 81 Faued RTYTH T

(14)



34)
Question Stimulus :-

Deepak says this about Ramesh: His only brother is the father of my daughter’s father. How is Ramesh related to

Deepak? / SIU® Ug IR & fquy & wgdr 8: SHDI SPHdldl HIS, A I8 F fUar &1 fuar 8] 0w Sius
¥ frd UpR ddfta 82

® Father / e

® Uncle / Tl

® Grandfather / &Il

® Brother-in-law / ITdl
Correct Answer :-Uncle / dTdl
35)

Question Stimulus :-

One rupee note in India is signed by ./ HRd | Q'EFquf P Al —'a'?'Q'RT gaTeR foear sirar %
e RBI Governor / ¥51d §% & Ireyurel
® Union Finance Ministry / Fatg fom dxme
® Secretary, Finance Ministry / ﬂﬁﬁ, EEREIND]
® Secretary, Commerce Ministry / Wﬁlﬂ, qTforsg AT

Correct Answer :-Secretary, Finance Ministry / '\‘Iﬁﬁ, o vamerg

36)
Question Stimulus :-

The Kabir award was founded in 1986-87 to honor excellence in the field of / Gk Scp Pl

DI FHTT B D T 1986-87 T AR RIBIR B HSTT DI T 0t

® Jndian Poetry / YR ST
® Indian Music / YR TIa
® Tribal Arts / SIFTSITA WTE
® Classical Dance / MR T

Correct Answer :-Indian Poetry / HIRd 19 ST

(15)



37)
Question Stimulus :-

Which vocalist is remembered for his album “Sun Bhai Sadho”? / 37 UcidH "gd Q-I'Ié Tren” %ﬁ’lﬁ e
% &Y a1 fomar SraT 82

 Bismillah Khan / faafreers @ =
® Bhimsen Joshi / %ﬂ'q@qvﬁ'!z‘l’r

® Jasraj / STURTS

® Sawai Gandharva / '\‘ﬁ'l'é' TG

Correct Answer :-Bhimsen Joshi / Y3 Sl

38)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& faweu gﬁl’ﬁ’,ﬁﬁ GEZCIRCI T
AR FFTF I 7 :

If you want to go to the last floor, then you need lift. / 3R 317 TG HioTad U= SI+IT Tqred
g, @ MUl fore Ft smazamar aift

e If you need lift, then you want to go to the last floor. / 3R 3yt fore @t smagdmdr
gl 8, at ey Rt wivre W wirar =red Bl

e If you don't need lift, then you don’t want to go to the last floor. / 3R 3MU®) e Ft
ATaLIHAT Tl BIdt &, af Mg TR AT W o1 781 a1gd Bl

e If youdon’t want to go to the last floor, then you don’t need lift. / 3 R 3T STRast
HfSTer IR ST 181 9T8d §, oY 3Tudp! forue &1 3rmawgedr 81 2|

e None of the above / SWRIad ®I§ Tgl|

Correct Answer :-If you don’t need lift, then you don’t want to go to the last floor. /
3R 3ATYHI ferue & rra=adhdr =181 gid! ¢, at My MRa¥} wfvra W s =18t =red gl

39)

Question Stimulus :-

1. In a family of six persons, there are people from three generations. Each person has
separate profession and also they like different colours. There are two couples in the

family. / 1. ©: @ & To uRaR & @ OF iR & §1 5% TP 31 Iaur™ 3@ § SR 3 SeT ¥ UNig
HERRERE R UG R

(16)



2. Rohan is a CA and his wife neither is a doctor nor likes green colour. / 2. ﬁ'eF—[ HTI'QP[
TR ¢ 3R TP Uelt 7 See? & T I & I UG 2

3. Engineer likes red colour and his wife is a teacher. /
3. SR F g0 I yde g 3R S udt e gl

4. Mohini is mother-in-law of Sunitha and she likes orange colour. / 4. Iﬁ‘%ﬁ’ff}?ﬂ?ﬂ B I %
3R I IR [T WS B

5. Vinod is grandfather of Tanamy and Tanmay, who is a principal, likes black colour. / 5.
e T79a & 2reT € SR a9 S TUHRER €, 3 ST I UHe gl

6. Nanu, granddaughter of Mohini and she likes blue colour. / 6. Hifg=t BT A BIGH# Cak iG]
WiE B
7. Nanu’s mother likes white colour. / 7. 9 ®1 AT I Wbg W Ude |

What is the Profession of Sunita? / ﬁﬁ?ﬂ&ﬂﬁ'!mw%?
e Engineer / 3f4ddr
e Doctor / STaex
e Teacher / Ru&®

e Can’t be determined / fHIia =&Y foar s gear

Correct Answer :-Can’t be determined / fFieia =gY far w1 gar

40)
Question Stimulus :-

A blacksmith has five iron articles A, B, C, D and E each having a different weight. / T® &R
¥ U A,B,C,D 3iR E U 8% TS 3T HRATH! g I axg¥ gl

1. A weighs twice as much as B. / 1. A &T YR B 9 g1 &1
2. B weighs 4 and a half times as much as C. / 2. B &1 YR C ¥ 4 3fIX 34T 71 31
3. C weighs half as much as D / 3. C &T YR D ¥ 34T &1

4. D weighs half as much as E. / 4. D ®TUR E J amn%| 5. E weighs less than A but more
than C. / 5. E &1 YR A ¥ ®¥ afdd C q W1eT 8l

Which of the following is the lightest in weight? / 9 & Ia9 $9 4R f$9®1 82
e A

(17)



e B
e C
e D
Correct Answer :-C

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

In a certain code language, hutch tel bsnl means all network busy, bsnl idea oasis means
busy with work, tel bpl orange means network not there. Which is the word for hutch in
that code language? / & @RI FIs HIWT §, hutch tel bsnl ®T Haad g all network busy, bsnl
idea oasis &1 Hddd % busy with work, tel bpl orange &1 Hddd % network not there | I Pis
Ul § hutch & T @17 21eg 82

* work

® network

® Dbusy

® all
Correct Answer :-all
2)

Question Stimulus :-

Complete the series choosing the missing letter/s: / fa@u &R FABY Y4TaAT HI GRT DT : ba
bb _ bbb _ _ bbab _

® baabb

® baaba

® aabbb

® babba
Correct Answer :-baabb
3)

Question Stimulus :-

From a salary of a person, 10% is deducted for house rent, 20% is spent by him on conveyance, 20% for income tax and 10%

(18)



on cloths. He left with Rs. 4800, find his total salary?/ Tdh Hfed & da9 '\ﬁ, WS AP m 10% HICT I,
20% JTF RT AR TR Tl §3iT, 20% AHR & AT 3R 10% FUS W ITF U 4800 IUT T3,
SADT $A da [Td HE?

e Rs.10,000/ 10,000 ®¥Ug
e Rs.14,000/ 14,000 ¥Ug
e Rs.12,000/ 12,000 ¥Ug
e Rs.15,000/ 15,000 »UU
Correct Answer :-Rs.12,000/ 12,000 30U

4)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IBE|

ATHIA B T & o =grraw e § fara-t dieft Yaren ot smaxawar gril?

Correct Answer :-7

5)
Question Stimulus :-

A can finish a work in 18 days and B can do the same in 15 days. A worked for 12 days and left the job. In how many
days B alone can finish the remaining work? / A T HTH Bl 18 ﬁ‘ﬁ o R HI bl % Gﬁ'\" B Sl &1 @I 15
A R Hr Iwar g1 A 7 12 AT & forw & b ik i ©is & =ar Tl B 9 &1 &t b fhaq

o o 1 B qwar g7
(19)



e 5days /s5fia

e 6days / 6 faq

e 4days / 4TeF

e 7days/ 7 fem
Correct Answer :-5 days / 5 fa
6)

Question Stimulus :-

In a certain code language, peka doka suka means hit and hot, fetu peka seka means well
and good, leka suka maka means hit the target. Which is the word for hot in that code
language? / {53 @ s YW §, peka doka suka F1 Hadd © hit and hot, fetu peka seka T
Hqad & well and good, leka suka maka &1 Adad ¢ hit the target | 33 ®I8 HW & hot & T

T 82
® suka
® doka
® fetu
® peka
Correct Answer :-doka
7)
Question Stimulus :-

Three unbiased coins are tossed. What is the probability of not getting one head? / &I forsuar Rieh B WA 211 P faie
TE) 3 B HHIGAT HTR?

° 3/8
e 1/2
® 5/8
° 1/8
Correct Answer :-5/8

8)

(20)



Question Stimulus :-

Shahid brought a table for Rs. 200 & sold it for Rs. 250.find his gain percentage? / TAM8E 200 W‘T&ﬁ@
A AT SR 250 $UA T o o, ITHT a1y ui=ra 1 62

® 45%
® 25%
® 10%
® 30%
Correct Answer :-25%

9)

Question Stimulus :-

2 3 1
5 th . 10 th 8 th
A man spends of his salary on food, on house rent & on other
2
expenses. What fraction of his salary is still left with him? / T® 3IGHI U=t M@ ST~ HIT
3 1

Yo IR @ Heda1 g, 1 o oe F R w ok S ynr 9t wdl | TS 3 BT faer R skt
ot 3P U Y 3?2

. 40
8
40
[ ]
9
. 40
6
. 40
7
40

Correct Answer :-
10)
Question Stimulus :-

(21)



In the following qyestipn, one term in the number series is wrong. Find out the wrong
term. / 9 Uy ¥, TS 491 § TP UG WA g TAd UG I BIor|

3,10,27,4,16,64,5,25,125
* 64
°* 25
® 10
® 125
Correct Answer :-10
11)

Question Stimulus :-
In a certain code language, beta zeta teta means slow local train, zeta zota pota means fast
passenger train, tui mara beta means view slow motion. Which is the word for local in that
code language? / Tl WY ®Is YT §, beta zeta teta &1 HAAd 8 slow local train, zeta zota
pota T Hddd % fast passenger train, tui mara beta %1 Hddd % view slow motion| I Fis
YT ® Jocal & T &1 T=g 82

® Deta

® feta

® mara

® pota
Correct Answer :-tefa
12)

Question Stimulus :-

A person travels at a speed of 10 km/hr to reach a destination at 10 am, he will reach at 12 noon, if his speed is 8 km / hr.

Find the distance?/ a8 10 ¥ 3UN Taqd YU dF Ugaq & o T qafa 10 fHdieer ot nfa S amn w=ar g,
afe g 8 feediae &1 i & gaar 3, Y 98 Siugy 12 a9 UgA | g8 FId B2

* 80 km/ 80 fopeit
e 100 km/ 100 et
e 60 km/ 60 et
e 40 km/ 40 fopehY

(22)



Correct Answer :-80 km/ 80 fH

13)
Question Stimulus :-

X/4=3:x=7?
e 1
e 2
e 12
e 3
Correct Answer :-12

14)
Question Stimulus :-

Three unbiased coins are tossed. What is the probability of not getting all tails? / GiG| ﬁm&‘[ﬁﬁ% T Trlﬁ%l INFue
T8 3 B HUTTAT FTR?

° 3/8
e 1/2
® 5/8
° 7/8
Correct Answer :-7/8

15)
Question Stimulus :-

If 21A4 + 126C = 3417 Where A & C are numerals; find the value of C? / Iﬂ% 21A4 + 126C
= 3417 W8T A 3R C YBA® §; af C BT HH FT GRI?

e 3
5
o 7

e 0

(23)



Correct Answer :-3

16)
Question Stimulus :-

Complete the series choosing the missing letter/s: / faqW 31&R YIS 4TaAT Ht [T PIOC : ab
_b _ bbaa _

® abaab

® abbab

® baaab

® babba
Correct Answer :-baaab
17)
Question Stimulus :-

What is the loss percentage if an article costing Rs. 2 is sold for a loss of 50p? / gfe ﬁg ?ﬂﬂﬁz IUY FI
NI § 3R 98 50 U] & T ¥ 99 &I Wit 8, o SHHT g1f ufa=ra oam g

® 25%
® 24%
® 20%
® 23%
Correct Answer :-25%

18)
Question Stimulus :-

In the sequence shown below, which figure comes next? / #R @ 1 w9 o srreft
i @1t giftz

*SS L322 | LA @28
ZL X2 e QD Se
L ISE 228 ece 28

(24)



Y
ST
°0®

eo®
207
o0 e

YST )
L L.
oS e

'YL
20D
oS e

Correct Answer :-

19)
Question Stimulus :-

How many different seven letter words can be formed using the letters of the word ‘ARRANGE’ if repetition is not allowed?

ﬁ;ﬂﬂgﬁﬁ«gﬁﬂﬂﬁ%aammmeym&:%a&lﬁmuﬁﬂaﬂ%ma{&w%ﬁmﬁﬁf‘wmaﬂ

® 1260
® 5040
® 2520

® None ofthesels:lﬁﬁaﬁ_&;:lﬁl

Correct Answer :-1260

20)
Question Stimulus :-

(330/11)x2-(42/6)x9-(115/5)x3=?
e -69

(25)



° .72

Correct Answer :--72
21)

Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬁ'ﬁf J=AT oD ai@wﬁw ﬁﬁrq :

1,2,6,24,120,

° 720

® 700

* 725

® 715
Correct Answer :-720
22)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination / R € S gE@r &Rl T RS BT SIHH UINT Helt 7] el Ao U= |

(i) OP1245622TY1
(ii) OP1243622TY1
(iii) OP1245622TY1

(iv) OP1245622TY1

® jv
Correct Answer :-ii
(26)



23)
Question Stimulus :-

A man travels from A to B at a speed of 4 km/hr and returns at a speed of 6 km/hr. His average speed is/ Tth \?rI'IHT-ﬂ' 4 ﬁﬂ:ﬁ/

HeTH A A A B TP ST 3R 6 fFHl 9 FI A A TUT e g | STPT A TR |

24 km/hr / 24 T /der

4 km /hr / 4 f&H/d9er

5 km/hr /5 f&wieer

4.8 km / hr/ 4.8 f&diser

Correct Answer :-4.8 km / hr/ 4.8 f&Hi/ger

24)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one
given below? / ¥ 33 T IR vl # I R 3 T ud & St 9= F19 1 TP T |2

Daniela Sosa

Casilla de Correo 432
Correo Central

C1000WAM Capital Federal
ARGENTINA

(i) Daniela Sosa

Casilla de Coreo 432
Correo Central

C1000WAM Capital Federal
ARGENTINA

(ii) Daniela Sosa

Casilla de Correo 432

(27)



Correo Central
C1000WAM Capital Federal
ARGENTINA

(iii) Daniela Sosa

Casilla de Correo 432
Correo Central

C1000WAM Capital Federal
ARGENTINA

(iv) Daniela Sosa

Casilla de Correo 432
Correo Central

C1000WAM Capital Federal
ARGENTINA

® i

® ii

® v
Correct Answer :-i
25)

Question Stimulus :-

In a certain code, AXBTC is written as 15789 and MPDU is written as 2346.
What does the code 23549 represent in the code? / fft @ His A, AXBTC & 15789
forar ST @ 3 MPDU &) 2346 foRar 9iar 8] 39 &1 § 23549 $IS T S=IidT 82

e MTDXP
« MPXDC

« MCAPD
(28)



e MXPDC

Correct Answer :-MPXDC

26)

Question Stimulus :-

2.3 ,2.3
P9 2y
Find the reciprocal ratio of $T GopH IJUTd HmIferg
* p:q
e 5:3
e 5q:3
e 5q:3p

Correct Answer :-5q:3p

27)

Question Stimulus :-

The average of 10 numbers is 37. What will be the average if each number is increased by 3? /

10 H@I130 T 3d 37 2| afe e I©I & 3 ¥ 9T faar R, Y 3id =1 giv?
* 35
°* 42
* 40
* 38
Correct Answer :-40

28)

Question Stimulus :-

A student scores 90%, 66% and 54% marks in the test paper with 100, 120 and 150 respectively as maximum marks. The
percentage of his aggregate is/ T BSTA  HHT: 100, 200 3R 150 3AfUPaA 3BT & ITY gYuT A 90%,
66% 3R 54% 3 U fHa | ITS YoiaRT F ufa=raar 3|

® 65%

® 68%

(29)



® 70%

* 72%
Correct Answer :-68%
29)
Question Stimulus :-

Complete the series choosing the missing number: / AW TBAT TAG @1 BT T ST :

2,4,8,16,32,

* 60

® 04

® 62

® 70
Correct Answer :-64
30)

Question Stimulus :-

In a certain code ‘IijMEFO’ is coded as ‘GOLDEN' then in that code ‘GOLQEN’ is coded
as: / f&dl @ P &, '"HPMEFO’ &1 ‘GOLDEN’ ¥ Sifed f&ar wiam @, @) 99 $I€ & '"GOLDEN’ &1
Y Sifed frar s

 FNJCDM
 FNKDCM
 FNKCDM
e FNKCDO

Correct Answer :-FNKCDM

Topic:- Science and Simple Arithmetic
1)
Question Stimulus :-

Drinking water kept in an earthen pot cools the water because / UH & 9t ot ﬁrg"r & 99 U W4 W 98
Ut BT ST T@T § Riifd

® The very minute pores in the pot allow water percolation and evaporation / g A
(30)



9gd qeA 5% ol & Siawraor ok g BRa €
® Earthen pot will not let heat in / €} & T 3rM 31X Y 181 811 &
® Earthen pot is a bad conductor of heat / fiS} & Td- FHT F TWRIT ATAD &
® Soil cools up fast / St Tl T Bl B

Correct Answer :-The very minute pores in the pot allow water percolation and

evaporation / Fd- & 9gd g&H o5 Ul & siaqaur 3 arsuT #vd &

2)
Question Stimulus :-

Find the measure of an angle, which is equal to it supplement / 39 PI0] BT ATY BIG) R RrRIHT 919 3P
TRE & TRER B

e 90°

e (°

® 245°

® 180°
Correct Answer :-90°
3)

Question Stimulus :-

The flash of lightning is seen at once but the sound of thunder reaches us after a few
seconds. This is because light travels much faster than sound. The SPEED of Sound waves

in airis / fooeh @ aldd @a e 3 § W duwrel 3 af 89 a9 oo APvsl & Uy Tgad! 21 I8
ST Fife fSurell, @i F o9 9 St 81 9 @ a0 $ afd 41 82

e 330 m/s

e 3000 m/s

e 3x10%m/s

* 2.998 x 10%m/s
Correct Answer :-330 m/s
4)
Question Stimulus :-

(31)



The length of an arc of a sector of angle 6 in a circle of radius 'r’ is . / B

v &% gd § 0PIV F A & AT B TS ©

2E

— x2m
Correct Answer :--

5)
Question Stimulus :-

Find the prime factorization of 156. / 156 &1 3¥ JUNGS FoIed
* (2%)(5)(6)
* (2%)(3)(13)
* (2%)(3%)(12)
e (2% (7)(11)
Correct Answer :-(2?) (3) (13)
6)

Question Stimulus :-

Adolescents are advised to take foods with sufficient calcium than adults / fHRIRT @ TO®B| & 'E[EFITSI?I g
AT § Sicyd aret Hie oA $1 Farg § §rdl 8

® toincrease the bone density / ng P g-qd! Wﬁ ¥ ford

® to develop their taste buds / 3=t W’%ﬁﬂ' fawfg o33 & o
® to develop their brain / 3IU-IT Af&TtH fawfg o34 & o

® to overcome their hunger / 3Tt HO W mtﬂﬁ ¥ o

Correct Answer :-to increase the bone density/’ﬁ'ﬁ P gadr Wlef & ford

(32)



7)
Question Stimulus :-

Uterus is a part of the female reproductive system. What is its function? /TI’J-I'&ZT{T II'%FIT ST Tl 1 Uh
o 81 suT = B @2

® Formation of egg / 38 9T

e Development of baby / = &7 fd®&™T &A1

® Formation of sperm / [hTU] BT Ferator s

® Fusion of egg and sperm / 3 3R [P pT LI

Correct Answer :-Development of baby / §& &1 & &A1

8)
Question Stimulus :-

Consider the table given below which shows the production of different kinds of cars from 2002 to 2007: /T-ﬂ% a "T&c

IR R AR SIS St 2002 § 2007 9% fGfHT TSR o M) 1 e feard 8:

Cars P G R 5 T u
2002 36 20 14 60 40 45
2003 34 22 22 62 45 52
2004 40 25 16 67.5 48 55
2005 35 23 25 75 50 60
2006 37.5 149.5 25 76 80 57.5
2007 40 18 35 80 105 56

In which year was the production of cars of kind P and S taken together equal to the production of cars of kind T and U

taken together? /aﬁ'—rﬁacfﬁwzrﬁtvﬂné‘paﬁ?swﬁm%ﬁmmm,muﬁﬁﬁﬂéwwﬁ?
U B TSN & IAUTG P SRR R

® 2002
® 2004
® 2005
® 2007

Correct Answer :-2005

9)

Question Stimulus :-
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Directions for the following four questions: Study the graph below and answer the
questions. (Others population includes Jains 0.7%, Buddhists 0.4%) (Consider

approximate values for answers) / 9 3T T IR s & fow Fdw = Ry ¢ 1w &1 siema &3
ﬁaﬁgfﬁﬁwwﬁlmm' # 0.7 wfazma S+t 0.4 vlwr S e 81 W F R srgwfe gel w®
|

Religion wise break-up of Population in 1971

1.80% 4 609

2.60%
11.20%
7.

mHindus
=hiuslims
BChntians
st ESikhs

BOthers

If the total population were 10,000,000 then what was the population of others? / e P
SFE@IT 10,000,000 Bl df 3 &1 S-aeT faeHT 4?2

® 1million/1 fufeora=

® 0.16 million / 0.6 Tofera=
 1.12 million / 1.12 THfeE=
® 1.5 million/ 1.5 fufera=

Correct Answer :-0.16 million / 0.6 Tafera=

10)
Question Stimulus :-

Venkatesh and Murali started a business investing Rs. 9000 and Rs. 12000, respectively.
After 6 months, Murali withdrew half of his investment. If, after a year, the total profit was
Rs. 4600, what was Murali’s share in it? / 3% Td GRell HHRT: 9000 FUT TG 12000 =0T A=
PP Th ATHN RY B 21 T: Ao 916, GIal 3y Fa=r &7 3em 9oy & dar g1 afe, v ad arg, o
ATY 4600 FUT T, ST YAl P g1 T UT?

® Rs. 2300

® Rs. 2000

(34)



® Rs. 2600
® Rs. 1900
Correct Answer :-Rs. 2300

11)

Question Stimulus :-

Mature ovary forms the / URU® ST =g &1 fAwior Sl @

® Stamen /W
* Ppistil / Tl P
® Fruit/®d
® Seed/dIoT

Correct Answer :-Fruit /B d

12)
Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Others population includes Jains 0.7%, Buddhists 0.4%) (Consider

approximate values for answers) / =& T T IR sl & o Adw = RE ¢ 1w &1 srema 3
;§I§£?§2;§5T:3i1€i§| 3 SHEEI ® 0.7 UfaRra ST 0.4 ufawrd S ive &1 S<R & fore srgwnfe ge R
|

Religion wise break-up of Population in 1971

1.80% 4 609

2.60%
11.20%

mHindus
LT e Bluslims
s - wChrtians
B3ikhs
B0thers

People from which religion were in largest number after Hindus? / %E{Gﬁ F gya g o & a3 Se 9ed
(35)



3fd® iz
® Christians / '&‘ﬂ'l's:

° Buddhists/iﬁg
e sikhs / RIe@

® Muslims / HITHTA

Correct Answer :-Muslims / §IdHTT

13)
Question Stimulus :-

The cube root of 16 lies between

gl
® 1and2/ 1TWd 2
® 2and4 / 2Td 4
® 1and3/1Td 3

® 2and3/2TWd3

Correct Answer :-2and3 / 27d 3

14)

Question Stimulus :-

./ 16 BT T A

Tq

& He R

The change of direction of path of light by a mirror is called / Y E,"CfUT gIRT UHT &b HIA B fe=m uf¥aed &t

el Slldl % 5
® Reflection / WRIadq
® Refraction / 3yad=
¢ Dispersion / U‘R’Q’Q’UT

® Tllusion / YH

Correct Answer :-Reflection / TRTda

15)

Question Stimulus :-
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Which among the following is not a quadratic equation? / g #A I oA ﬁiﬂ?f LEICT T'Iﬁ %?

(x+1)" —2(x—3)

. ¥ =2x=(-2)3-x

(x—2)(x+1)=(x-1)x+3]

(x—3)2x+1)=x{x+5)
[ ]

Y T (v Yrr 3
Correct Answer :-[‘l 2o+ 1)= o1+ 3)

16)
Question Stimulus :-

The uniforms of the Firemen of the Fire Force department have a coating of a polymer material on them to make

them flame resistant. Identify the material from the given options. / 3 96 fAUTT & IRRmMHS gF‘Sﬁ G| aa“f
R 9ga® Yerd @1 WRa gl & ot 3= 3f A Fare) 31 A fowreut @ 39 uerd & ugar Fifve

® Melamine plastic coating. / 'aFITFI'I?{:[ WTRe® WRd
® Carbon coating. /W Wd
® Grease coating. / el wRa

¢ Bakelite coating. / 6%13? qRd
Correct Answer :-Melamine plastic coating. / 'a?lTlTIET'T WIReP WRd

17)
Question Stimulus :-

Name the additional covering over the cell membrane which provides rigidity in plant cells

is / PRSI Rreell & SR 1 ifaRe Smavor St awufa SIRGT # Tgar UgH H3a1 @
Plasma lemma / SiTdgod Hal

cell wall / ST fUfRT

Mucilaginous membrane / XASH® 1T faTeett

e Cell covering/aﬁﬁﬁﬂ SITARUT

Correct Answer :-Cell wall / DIR1pT1 fifar

18)
(37)



Question Stimulus :-

It is difficult to hold a glass tumbler if the outer surface is greasy because / Y& PId & Rremg &1 UhSHl ij %

afe SH@T aTest g8 fh g1 wifes
® It makes the surface rough / 98 U8 & ®& SITdT &
® It makes the surface shining / 98 U8 @I ITHHGR I-TdT ©
® It reduces friction / T8 TYUT B HH FHXdT §

® [tincreases friction / Ug UYUT B FeTdl %

Correct Answer :-it reduces friction / 8 HYUT B HH HIdT %

19)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Others population includes Jains 0.7%, Buddhists 0.4%) (Consider

approximate values for answers) / AR R 13 IR wei & fore Rdzr 9 RRw e wiw &1 srema= &9
3R WY BT IR 1 3 TR # 0.7 wiawrd S+t 0.4 wfawa dig wita §1 SR & forw ergw~e 7ol =

far 31

‘1 -SOGJ"I'O 1-600‘(.{0

2 60%
11.20% <N

83:70%

Religion wise break-up of Population in 1971

oHindus
=duslims
BChritians
BSikhs
#0thers

What was the total Population of Hindus and Jains in terms of %? / UTa=Td ¥ Teuf o %Z({Gn' 3R Sifa a1 od

SIET faHt A
* 82.4% / 82.4 Yfazd

* 83.4% / 83.4 yfazd

(38)



* 82.0%/82.0 Ufr=Id
e 79.0%/79.0 Ufa=rd

Correct Answer :-83.4% / 83.4 Ufazd

20)
Question Stimulus :-

High speed winds can cause cyclones in the regions of/aﬁ AT B darg s+ ?33?[ H Tehard @1 gl %
® Low pressure / PH qId
® High pressure / 3=l qId
® Medium pressure / HIH qId
® Any pressure / Gﬁ'ﬁt Wt g9

Correct Answer :-Low pressure / ®H qId

21)
Question Stimulus :-

Insects have a network of air tubes in the body to help in respiration called / ®ic F IRR A a1 Eﬂ:ﬂﬁ CaRSIG)
%9 ¥ Wag B & o giaT §, 9% deardl &

® Spiracles / W@W

* Gills /fra

® Trachea / TaTH-Tel

* All the above / SHURIGd |t

Correct Answer :-Trachea / XaTH--Tail

22)
Question Stimulus :-

tan 0 is not defined at / TR tan 6 TRUIRE 7 3]

e 9 = 45°

oe=0°

(39)



e 9 =90°
e 0=0=45°
Correct Answer :-6 = 90°

23)

Question Stimulus :-

The length of tangent from a point A, at a distance of 13 cm from the centre of the circle, is

12 cm. What will be the radius of the circle? / [Pl T@F I 13 M. PG R RA g A A
39 gd W & 58 o=t Yo 9 awg 12 9. 8, 9 g ) s «n g

e 3cm/39HI.
e 11cm/119Hl.
e 5cm /59
® 21cm/219Hl.

Correct Answer :-5cm /5 3.

24)
Question Stimulus :-

External fertilization occurs in / STEI-FTT 38H Iau7 gidT 8
* Mammals / EIFUTY
e Birds / Sl
® Hen /Wil
* Fish /AB

Correct Answer :-Fish / HSell

25)

Question Stimulus :-

Turmeric in Curries leaves a yellow stain on our clothes, when spilt over it. What would be the colour change if

this yellow stain is washed with soap and water?/'Qﬁav_\Ff ﬁwma’rwﬁuﬁﬂﬁmﬁsﬁﬁmﬁm
R T gsaT 35 AT 21 afe 39 W 4s) @Y |rge SiR T ¥ 91w fhar wire @ <9 ® @ uRkadd g

e Yellow to green. / W&l ¥ &1

(40)



* Yellow to violet. / WdT & ST
e Yellow to red. / Tia1 4 99|

® Yellow to blue. / dar I el
Correct Answer :-Yellow to red. / a1 9 99|
26)
Question Stimulus :-

Which of the following statements is CORRECT? / ﬁI'EI' | J ﬁq Tl PYd 9 %?

® Bodies can be charged only by rubbing them with suitable objects / fusY @ Haa foedt SUYdd W?-f & 1Y
TMeH AR fHar =1 THar g1

®* During thunderstorms, the charges that accumulate on the upper part of the cloud are
negative charges / AfSagis & RM, d ATAN S TGl & HU HIT W IR | § BUTHS
TS B 1

® Flow of electric charges constitutes electric current / Tagad STA=M &1 YaTg fagaa URT &1 fAtor Hvar
d

® The lightning conductor is erected at the ground floor of tall buildings / ?I'%T‘T AP Bl Hd YAl P ad
DY W T far smar 2

Correct Answer :-Flow of electric charges constitutes electric current / ﬁg‘q‘d 3(Ta=N BT Udlg ﬁgtrd URT
31 fomtor st g1

27)
Question Stimulus :-

Some seeds are dispersed far and wide by the fruits bursting in sudden jerks. / SI<ITH® EE'EIOJI =1Rdl fFarwa &
Ted U T a6l gr-gr dP [aeR ord §

® Xanthium /@Frﬁnm
® Mango / 3ITH

® Coconut/ATRAA

e Balsam /Td ﬁ'z!‘cﬁ

Correct Answer :-Balsam /Td #Agdl

28)

Question Stimulus :-
(41)



At the ratio of 7% p.a. simple interest, a sum of Rs. 3,500 will earn how much interest by the end of 5 years / 3500

FUY BI AR W 7% Ufd a9 B ¥ A ATYRYI 16, 5 A1 & 3id d& foba-1 sarer e
® Rs. 1,500
® Rs.750
® Rs.1,225
® Rs.2,225
Correct Answer :-Rs. 1,225
29)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Others population includes Jains 0.7%, Buddhists 0.4%) (Consider

approximate values for answers) / ﬁﬁqnﬁwusﬁ'%ﬁmﬁ%ﬁ ﬂ%ﬁqﬂqwm ST B
ﬁﬁ;;%ﬁﬁ'wwﬁl 3T SIS § 0.7 AR ST 0.4 iR s e §1 SwRI & e srgwnee geal )
I

Religion wise break-up of Population in 1971

1.80% 1 609

2.60%
11.20% g

; A mHindus
=Muslims
e BChritians
Il ESikhs

BOthers

If the population were 10,000,000 then how many more Muslims were there

than Christians? / df¢ SFI=IT 10,000,000 il df SARA A fHaq 3ifte Taad 42
* 0.9 million / 0.9 TR
* 1million /1 fifera=
e 1.10 million / 1.10 TAfera=

(42)



® 1.5 million / 1.5 fafera=

Correct Answer :-0.9 million / 0.9 faferas

30)

Question Stimulus :-

ABCD is a rectangle with AB = CD = 76 m, BC = AD = 50 m. Find the area of ABCD. / ABCD
T 3TOd & dUT AB = CD = 76 Hicy, BC = AD = 50 HIeX &1 ABCD &7 &T%d JId PIerg|

* 126 m2/ 126 Hiex 2
e 3.8km?2/ 3.8 foHt 2
e 252 m/ 252 Hex
e 3800 m /3800 HieX

Correct Answer :-3.8 km2 / 3.8 f&} 2

(43)



